

- (b) (6) Observe that the boxed number in row 5 (this is the 4th entry in the row) is the sum of the boxed numbers in rows 1 to 4. A generalization of this observation leads to the formula:

$$\sum_{m=1}^n \binom{m}{m-1} = \binom{n+1}{n-1}$$

Use a proof by induction (the first form of induction is fine) to prove that the equation holds for all natural numbers n .

There are two ways to prove this.

(1) Observe that

$$\sum_{m=1}^n \binom{m}{m-1} = \binom{n+1}{n-1}$$

is equivalent to

$$\sum_{m=1}^n m = \frac{(n+1)n}{2}$$

Now apply induction

(2) Prove directly using induction

Base: $n=1$ $\binom{1}{0} = \binom{2}{0} = 1$

Ind hyp.: Assume $\sum_{m=1}^k \binom{m}{m-1} = \binom{k+1}{k-1}$ for a fixed $k \geq 1$.

Ind Step:

$$\sum_{m=1}^{k+1} \binom{m}{m-1} = \binom{k+1}{k} + \sum_{m=1}^k \binom{m}{m-1}$$

$$= \binom{k+1}{k} + \binom{k+1}{k-1}$$

$$= \binom{k+2}{k}$$

\Rightarrow

3. (6) Fill in the following truth table

p	q	$p \wedge q$	$q \vee p$	$(p \wedge q) \rightarrow (q \vee p)$
T	T	T	T	T
T	F	F	T	T
F	T	F	T	T
F	F	F	F	T

This is a tautology.

4. (6) Consider the logical argument

$$(p \vee q), ((\neg p) \vee r) \vdash (q \vee r).$$

Complete the truth table below, adding columns as needed to determine whether the argument is valid or not. After you have completed the table explain your conclusion in a sentence or two.

p	q	r	$p \vee q$ ①	$\neg p \vee r$ ②	① \wedge ② ③	$q \vee r$ ④	③ \Rightarrow ④
F	F	F	F	T	F	F	T
F	F	T	F	T	F	T	T
F	T	F	T	T	T	T	T
F	T	T	T	T	T	T	T
T	F	F	T	F	F	F	T
T	F	T	T	T	T	T	T
T	T	F	T	F	F	T	T
T	T	T	T	T	T	T	T

$(p \vee q) \wedge (\neg p \vee r) \Rightarrow (q \vee r)$
 is a tautology, so the
 argument is valid.